
customers

customersの初期状態 ["名前","住所","購入プラン"]

values ['１さん', '名古屋市', 'A’] [４さん', '横浜市', 'B’] ‥‥['１００さん', '名古屋市', 'D']]

['

[

customers.append(values)

[['名前', '住所', '購入プラン'], ['１さん', '名古屋市', 'A'], ['４さん', '横浜市', 'B'], ['１２さん', '名古屋市', 'C'], 
['１５さん', '横浜市', 'D'], ['２３さん', '名古屋市', 'A'], ['２６さん', '横浜市', 'B'], ['３４さん', '名古屋市', 'D'], ['
３７さん', '横浜市', 'D'], ['４５さん', '名古屋市', 'B'], ['４８さん', '横浜市', 'C'], ['５６さん', '名古屋市', 'D'], ['５
９さん', '横浜市', 'D'], ['６７さん', '名古屋市', 'B'], ['７０さん', '横浜市', 'C'], ['７８さん', '名古屋市', 'D'], ['８１
さん', '横浜市', 'A'], ['８９さん', '名古屋市', 'C'], ['９２さん', '横浜市', 'C'], ['１００さん', '名古屋市', 'D']] 

～

変数１ 変数２

for row,row_val in enumerate(customers)

c = new_sheet.cell(2+row, 1+col)

～

c.value = val

～

for col,val in enumerate(row_val)
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実行結果


